SNIT NO- WBIW/EE/WMD/SNIT-14 of 2017-18

SI. No. 64

Schedule of Quantity, Unit, Rate and Amount for the work, Emergent Repairs to slip at ch. 15.40 km. at R/S & C/S backing of TE3H2 Embankment Of L/B of River NeW Cossye in Mouza Kamalpur, P.S. - Debra in the District of Paschim Medinipur.

Amount put to Tender:

₹ 302,441.00

Earnest Money:

₹ 6,049.00

Time allowed for Completion:

SI,	Description of Items	No. or	Unit		nated Rate	Amount
No.		Quantity	3570	Figure	Word	
1	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	1260.00	Mtr.	₹ 23.60	Rupees twenty three and palse six zero only	₹ 29,736.00
2	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary a) Not less than 5 Cm. Av. Diametre	420.00	Mtr.	₹ 6.30	Rupees six and paise three zero only	₹ 2,646.00
3	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	560.00	Mtr.	₹ 19.30	Rupees nineteen and paise three zero only	₹ 10,808.00
4	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	6200.00	Each	₹ 5,00	Rupees five and palse zero only	₹ 31,000.00
5	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be less than 0.028 m3/ bag.	6200.00	Each	₹ 6.30	Rupees six and paise three zero only	₹ 39,060.00
6	Extra rate in item no. 4.02 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres.	5580.00	Each	₹ 13.80	Rupees thirteen and paise eight zero only	₹ 77,004.00
7	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in- charge.	2240.00	Sqm	₹ 7.70	Rupces seven and paiso seven zero only	₹ 17,248.00

51.	Description of Items	No. or	Unit	Estim	nated Rate	Amount
No.		Quantity		Figure	Word	0.0000000000000000000000000000000000000
8	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling zone etc. complete as per direction of Engineer-in-charge.	532.00	Cum	₹ 138,90	Rupees one hundred thirty eight and palse nine zero only	₹ 73,895.00
9	Supplying Nylon cage netting 1 metre x 1 metre x 1 metre size with knot having mesh size 17.5 cm x 17.5 cm constructed with nylon thread (210 x 24) having tensile strength not less than 250 Kg. / sq. cm. including carriage, delivery and stacking at site inclusive of all taxes complete.	70.00	Each	₹ 110.00	Rupees one frundred ten and paise zero only	₹ 7,700.00
10	Supplying brush wood including tying them in bundles with 12 SWG galvanized wire filling in specified areas in bundles and providing ties with half split bamboos fitted, fixed including lead upto 2 km and all lifts, laying and placing complete as per direction of the Engineer - in - charge. (measurement to be made on volume of each bundle)	240.00	Cum	₹ 55.60	Rupees fifty five and paise six zero only	₹ 13,344.00
	Total Amount put to Tender in figure =		110		-	₹ 302,441.00

Above / Less / At par than this Schedule Of Rates attached herewith.	/ We do hereby agree to do the above work @	
Above / Less / At par than this Schedule Of Rates attached herewith.		
	Above / Less / At par than this Schedule Of Rates attached ho	erewith.
		(Signature of the Contractor)

SNIT NO- WBIW/EE/WMD/NIT-14 of 2017-18 SI. No. 65
Schedule of Quantity, Unit, Rate and Amount for the work, "Emergent restoration work of Ratanpur canal of 1-Main canal damaged due to incessent rainfall from 22.07.17 to 24.07.17, under West Midnapore Division during the year 2017-18.

Amount put to Tender:

₹ 437,717.00

Earnest Money:

₹ 8,754.00

Time allowed for Completion:

51,	Description of Items	No. or	Unit	Estin	nated Rate	Amount
No.	<u> </u>	Quantity		Figure	Word	A ESTERAÇÃO
1	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both cutting and filling Zone etc complete as per direction of Engineer in charge.	630.00	Cum	₹ 76.70	Rupees seventy six and paise seven zero only	रु 48,321.00
2	Extra rate for earthwork in item no-1.01 above for each additional lead of 30 metres or part thereof beyond the initial lead of 30 metre [4 Extra lead]	630.00	Cum	₹ 30.80	Rupees thirty and paise eight zero anly	₹ 19,404.00
3	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in-charge.	24480.00	Sqm.	₹ 7.70	Rupees seven and palse seven zero only	₹ 188,496.00
4	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	8223.00	Each	रु ऽ.००	Rupees five and paise zero only	₹ 41,115.00
5	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be	8223.00	Each	₹ 6.30	Rupces six and paise three zero only	₹ 51,805.00

SI.	Description of Items	No. or	Unit	Estim	Amount	
No.		Quantity	_ 8	Figure	Word	
6	Extra rate in item no. 4.02 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. A) 2 (Two) extra lead	8223.00	Each	₹ 4.60	Rupees four and paise six zero only	₹ 37,826.00
7	Dumping in position earth filled polly bags inclusive of all leads and lifts. (admissible only when placed under flowing water.)	8223.00	Each	₹ 2,30	Rupees tworand paise three zero only	₹ 18,913.00
8	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	972.00	Mtr.	₹ 23.60	Rupees twenty three and palse six zero only	₹ 22,939.00
9	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (if Where boats are not necessary a) Not less than 5 Cm. Av. Diametre	432.00	Mir.	₹ 6.30	Rupees six and paise three zero only	रू 2,722.00
10	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	320.00	Mtr.	₹ 19.30	Rupees nineteen and paise three zero only	₹ 6,176.00
	Total Amount put to Tender in figure =					₹ 437,717.00
	Total Amount put to Tender in word :	Rupees for	ur lakh ti		housand seven hur only	dred seventeer

I / We do hereby agree to do the above work @	
Above / Less / At par than this Schedule Of Rates :	attached herewith.
	XX
	(Signature of the Contractor)

Page 1 of 2

Govt. of West Bengal Irrigation & Waterways Dte. Office of the Executive Engineer West Midnapore Division Medinipur, Paschim Medinipur

SNIT NO- WBIW/EE/WMDgNIT-14 of 2017-18

Sl. No. 66

Schedule of Quantity, Unit, Rate and Amount for the work, "Emergent protection work of Chetua Circuit Embankment Inbetween Ch.69.8.00 Km to 70.00 Km along R/B of River Silabati at Ghoroi Para in Mouza - Gadghat GP-Daspur, in Block - Daspur I P.S. - Daspur, of Ghatal Irrigation Sub-Division under West Midnapore Division"

Amount put to Tender :

₹ 6,27,521.00

Earnest Money :

₹ 12,550.00

Time allowed for Completion :

SI.	Time allowed for Completion : Description of Items	No. or	15 Da Unit	Estim	Amount	
lo.	97.00 7/HONDOWSES 1822	Quantity	1100000	Figure	Word	ASSESSMENT OF THE PROPERTY OF
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in- charge.	712.50	sqm	₹ 7.70	Rupees seven and paise seven zero poly	₹ 5,486.00
2	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete. (a) 15.00 cm. Av. Diametre.	833.00	Mtr	₹ 177.70	Rupees one hundred seventy seven and paise seven zero only	₹ 1,48,024.0
3	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground. (i) Where boats are not necessary. (a) 10cm to 15 cm Av. Diametre.	669.00	Mtr	₹ 65.90	Rupees sixty five and paise nine zero only	₹ 44,087.00
4	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete. (a) Above 15.00 cm.	228,00	Mtr	₹ 93.90	Rupees ninety three and paise nine zero only	₹ 21,409.00
5	Coal tarring with 5% pitch including cost of all materials complete: (b) Two coats.	480.43	Sqm	₹ 26.80	Rupees twenty six and paise eight zero only	₹ 12,876.00
6	Fitting, fixing bitumen drum sheet to bullah piling and wailing pieces including cutting straightening drum sheet fixing with country nails and bolts including supply of drum sheet fixture all complete as per direction of the Engineer - in - Charge.	60.0D	sqm	₹ 305.90	Rupoes three frundred five and paise nine zero only	₹ 18,354.00

Page 2 of 2

SI,	Description of Items	No. or	Unit	Estim	Amount	
No.		Quantity	.00000	Figure	Word	
7	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge.	712.50	cum	₹ 138.90	Rupees one hundred thirty eight and paise nine zero only	₹ 98,966.00
8	Extra rate in Item no. 1.08 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site. 6 (Six) Extra Lead	712.50	cum	₹ 186.30	Rupees one hundred eighty six and paise three zero only	₹ 1,32,739.00
9	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	5800.00	each	₹ 5.00	Rupees five and paise zero only	₹ 29,000.00
10	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	5800.00	each	₹ 6.30	*Rupees six and paise three zero only	₹ 36,540.00
11	Extra rate in Sl. no. 10 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. 6 (six) Extra Lead	5800.00	each	₹ 13.80	Rupees thirteen and poise eighty only	₹ 80,040.00
_	Total Amount out to Tonder in figure =				no areas 6	₹ 6,27,521.00
	Total Amount put to Tender in figure = Total Amount put to Tender in word :	Rupees si	x lakh to		housand five hun	The second laboration is a second laboration in the second laboration in the second laboration is a second laboration in the second laboration in the second laboration is a second laboration in the second laboration in the second laboration in the second laboration is a second laboration in the second l

	/
	-darkem
	Executive Engineer
	West Midnapore Division
	Irrigation & Waterways Dte.
	Paschim Medinipur
I / We do hereby agree to do the above work @	
Above / Less / At par than this Schedule Of Rates attache	d herewith.
1 	(Signature of the Contractor)
	12

Page 1 of 2

Govt. of West Bengal Irrigation & Waterways Dtc. Office of the Executive Engineer West Midnapore Division Medinipur, Paschim Medinipur

5NIT NO- WBIW/EE/WMDINIT-14 of 2017-18

Sl. No. 67

Schedule of Quantity, Unit, Rate and Amount for the work, "Emergent protection work of Chetua Circuit Embankment Inbetween Ch.0.20 Km to 0.50 Km along R/B of River Silabati atBarik Para inWord no-17 Ghatal Municipality, in Block & P.S. -Ghatal of Ghatal Irrigation Sub-Division under West Midnapore Division"

Amount put to Tender:

₹ 5,85,155.00

Earnest Money :

₹ 11,703.00

Time allowed for Completion:

SI.	Description of Items	No. or	Unit	Estin	Amount	
No.	AND	Quantity		Figure	Word	
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-inchargo.	665.00	sqm	₹ 7.70	Rupees seven and paise seven zero only	₹ 5,121.00
2	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete. (a) 15.00 cm. Av. Diametre.	777.00	Mtr	₹ 177.70	Rupees one hundred seventy Seven and paise seven zero only	₹ 1,38,073.00
3	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. NB:- Payment to be made for the length actually driven below ground. (ii) Where boats are not necessary. (a) 10cm to 15 cm Av. Diametre.	624,00	Mtr	₹ 65.90	Rupees sixty five and paise nine zero only	₹ 41,122.00
4	Supplying and fitting fixing with iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete. (a) Above 15.00 cm.	212.00	Mtr	₹ 93.90	Rupees ninety three and paise nine zero only	₹ 19,907.00
5	Coal tarring with 5% pitch including cost of all materials complete. (b) Two coats.	447.87	Sqm	₹ 26.80	Rupees twenty six and paise eight zero only	₹ 12,003.00
6	Fitting, fixing bitumen drum sheet to bullah piling and wailing pieces including cutting straightening drum sheet fixing with country nails and bolts including supply of drum sheet fixture all complete as per direction of the Engineer - in - Charge.	56.00	sqm	र 305.90	Rupees three hundred five and paise nine zero only	₹ 17,130.00

Page 2 of 2

SI.	Description of Items	No. or	Unit	Estim	ated Rate	Amount
No.		Quantity		Figure	Word	35
7	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge.	665.00	cum	₹ 138.90	Rupees one hundred thirty eight and paise nine zero only	₹ 92,369.00
8	Extra rate in Item no. 1.08 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB: This item is applicable only where the track/ tractors are not accessible at site. 6 (Six) Extra Lead	665.00	cum	₹ 186.30	Rupees one hundred eighty six and paise three zero only	₹ 1,23,890.00
9	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	5400.00	each	₹ 5.00	Rupees five and paise zero only	₹ 27,000.00
10	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	5400,00	each	₹ 6.30	Rupees six and paise three zero only	₹ 34,020.00
11	Extra rate in SI, no. 10 above for each additional lead of 60 metres or part thereof over initial load of 150 metres. 6 (six) Extra Lead	\$400.00	each	₹ 13.80	Rupees thirteen and paise eighty only	₹ 74,520.00
_	Total Amount put to Tender in figure =		I.			₹ 5.85.155.00

I / We do hereby agree to do the above work @	
Above / Less / At par than this Schedule Of Rates attached herew	vith.
	(Signature of the Contractor)

SNIT NO- WBIW/EE/WMD/SNIT-14 of 2017-18

Sl. No. 68

Schedule of Quantity, Unit, Rate and Amount for the work, "Emergent restoration work of Swargeria canal of 1-Main canal damaged due to incessent rainfall from 22.07.17 to 24.07.17, under West Midnapore Division during the year 2017-18.

Amount put to Tender:

₹ 360,150.00

Earnest Money :

₹ 7,203.00

Time allowed for Completion:

SI.	Description of Items	No. or	Unit	Estin	nated Rate	Amount
No.		Quantity		Figure	Word	
1	Earthwork in excavation by any means from borrowpits, canals and channels in all kinds of soil for maintenance and repairs of embankments, canals, channels and roads as per profile within an initial lead of 30 metres and lift of 1.50 metre including breaking clods, rough dressing, including removal of jungles and trees upto 30 cm. girth in both culting and filling Zone etc complete as per direction of Engineer in charge.	630,00	Cum	₹ 76.70	Rupoes seventy six and paise seven zero only	₹ 48,321.00
2	Extra rate for earthwork in item no-1.01 above for each additional load of 30 metres or part thereof beyond the initial lead of 30 metre.[4 Extra lead]	630.00	Cum	₹ 30.80	Rupres thirty and paise eight zero only	₹ 19,404.00
3	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in-charge.	14976.00	Sqm.	₹ 7.70	Rupoes seven and paise seven zero only	₹ 115,315.00
4	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	7982.00	Each	₹ 5.00	Rupees five and paise zero only	₹ 39,910.00
5	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge. NB:- Volume of earth/ sand filled bags should not be	7982.00	Each	₹ 6.30	Rupees six and paise three zero only	₹ 50,287.00

SI.	Description of Items	No. or Quantity	Unit	Estimated Rate		Amount
No.				Figure	Word	1 18600 200
6	Extra rate in item no. 4.02 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. A) 2 (Two) extra lead	7982.00	Each	₹ 4.60	Rupees four and paise six zero only	₹ 36,717.00
7	Dumping in position earth filled polly bags inclusive of all leads and lifts. (edmissible only when placed under flowing water.)	7982.00	Each	₹ 2.30	Rupees two and palse three zero only	रु 18,359.00
8	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	972.00	Mtr.	₹ 23.60	Rupees twenty three and paise six zero only	₹ 22,939.00
9	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary a) Not less than 5 Cm. Av. Diametre	432.00	Mtr.	₹ 6.30	Rupees six and paise three zero only	₹ 2,722.00
10	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	320.00	Mtr.	₹ 19.30	Ruptes nineteen and paise three zero only	₹ 6,175.00
	Total Amount put to Tender in figure =					₹ 360,150.00

I / We do hereby agree to do the above work @	
Above / Less / At par than this Schedule Of Rates attache	d herewith.
St.	(Signature of the Contractor)

SNIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

Sl. No. 69

Schedule of Quantity, Unit, Rate and Amount for the work, "Emergent protection of Mohankhali Circuit Embankment in between Ch. 35.00 Km to 36.00 Km along R/B of River Palaspai in Mouzas- Sitapur, GP - Goura, in Block- Daspur-II, under Ajuria Section of Ghatal Irrigation Sub-Division under West Midnapore Division."

Amount put to Tender:

₹ 1,12,932.00

Earnest Money :

₹_2,259.00

Time allowed for Completion:

SI.	Description of Items	No. or	Unit	Estir	nated Rate	Amount
No.		Quantity	1,17,120	Figure	Word	53257656
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in- charge.	1440.00	sqm	ফ 7.70	Rupees seven and paise seven zero only	₹ 11,088.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	306.00	Mtr.	₹ 23.60	Rupees twenty three and paise six zero only	₹ 7,222.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary	204.00	Mtr.	₹ 6.30	Rupees six and paise three zero only	₹ 1,285.00
4	Supplying, fiting, fixing with iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	68.00	Mtr.	₹ 19.30	Rupees nineteen and paise three zero only	₹ 1,312.00
5	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	2273.00	Each	₹ 5.00	Rupees five and paise zero only	रू 11,365.00
6	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	2273.00	Each	₹ 6.30	Rupees six and paise three zero only	₹ 14,320.00
7	Extra rate in SI. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. 5 (five) Extra Lead	2273.00	Each	₹ 11.50	Hupnes eleven and paise five zero only	₹ 26,140.00

SI.	Description of Items	No. or	Unit	Estim	nated Rate	Amount
No.		Quantity		Figure	Word	
g	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge.	200.00	Cum	₹ 138.90	Rupees one hundred thirty eight and palse nine zero only	₹ 27,780.00
9	Extra rate in Sl. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site. 3 (three) Extra Lead	200.00	Cum	হ 62,10	Rupees sixty two and paise one zero only	₹ 12,420.00
	Total Amount put to Tender in figure =			A 100 M		₹ 1,12,932.00

I / We do hereby agree to do the above work @	
Above / Less / At par than this Schedule Of Rates atta	oched herewith.
-	(Signature of the Contractor)

SNIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

Sl. No. 70

Schedule of Quantity, Unit, Rate and Amount for the work, "Supply Pump for dewatering of flood water at Mouza - Palaspai near Kali Manir, GP- Palaspai of Ghatal Irrigation Sub-Division under West Midnapore Division."

Amount put to Tender :

₹ 7,93,408.00

Earnest Money :

₹ 15,868.00

Time allowed for Completion:

Days

51.	Description of Items	No. or	Unit	Estin	nated Rate	Amount
No.		Quantity	10000	Figure	Word	
1	Dewatering by pumps within all lifts and making all arrangements for disposal of the same upto a specified istance, where continuous flow or seepage of water is encountered, as directed. The rating of pumps and hours of operations is ascertained as per direction of the Engineer-in-charge.	25760.00	Нр.Нг.	₹ 30.80	Rupees thirty and paise eight zero only	₹ 7,93,408.00
	Total Amount put to Tender in figure =		-		-	₹ 7,93,408.00
	Total Amount out to Tender in word :	Runees se	ven lakh	ninety three	thousand four hu	ndred eight only

I / We do hereby agree to do the above work @	
Above / Less / At par than this Schedule Of Rates	attached herewith.
	(Signature of the Contractor)

SNIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

Sl. No. 71

Schedule of Quantity, Unit, Rate and Amount for the work, "Supply Pump for dewatering of flood water at Mouza - Palaspai near Prymary School, GP- Palaspai of Ghatal Irrigation Sub-Division under West Midnapore Division."

Amount put to Tender:

₹ 7,43,820.00

Earnest Money :

₹ 14,876.00

Time allowed for Completion:

Days

SI.	Description of Items	No. or	Unit	Estin	nated Rate	Amount
No.	Quantity		Figure	Word	2008 ASSASS	
1	Dewatering by pumps within all lifts and making all arrangements for disposal of the same upto a specified istance, where continuous flow or seepage of water is encountered, as directed. The rating of pumps and hours of operations is ascertained as per direction of the Engineer-in-charge.	24150.00	Нр.Нг.	रु 30.50	Rupees thirty and paise eight zero only	₹ 7,43,820.00
=	Total Amount put to Tender in figure =				1	ক 7,43,820.00

Total Amount put to Tender in word:

Rupees seven lakh forty three thousand eight hundred twenty only

×	(Signature of the Contractor)
Above / Less / At par than this Schedule Of Rates attack	hed herewith.
2	
I / We do hereby agree to do the above work @	

ÇNIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

Sl. No. 72

Schedule of Quantity, Unit, Rate and Amount for the work, "Supply Pump for dewatering of flood water at Mouza - Benal near Ghata P ara , GP- Palaspai of Ghatal Irrigation Sub-Division under West Midnapore Division."

Amount put to Tender:

₹ 8,92,584.00

Earnest Money :

₹ 17,852.00

Description of Items	No. or	Unit		Amount	
No.	Quantity		Figure		
arrangements for disposal of the same upto a specified istance, where continuous flow or seepage of water is encountered, as directed. The rating of pumps and hours of operations is ascertained as per direction of the Engineer-in-charge.	28980.00	Нр.Нг.	रु 30.80	Rupees thirty and paise eight zero only	₹ 8,92,584.00
Total Amount put to Tender In figure =	8				₹ 8,92,584.00
	Dewatering by pumps within all lifts and making all arrangements for disposal of the same upto a specified stance, where continuous flow or seepage of water is encountered, as directed. The rating of pumps and hours of operations is ascertained as per direction of the ingineer-in-charge.	Dewatering by pumps within all lifts and making all arrangements for disposal of the same upto a specified stance, where continuous flow or seepage of water is encountered, as directed. The rating of pumps and hours of operations is ascertained as per direction of the ingineer-in-charge. Total Amount put to Tender In figure =	Dewatering by pumps within all lifts and making all arrangements for disposal of the same upto a specified stance, where continuous flow or seepage of water is encountered, as directed. The rating of pumps and hours of operations is ascertained as per direction of the ingineer-in-charge. Total Amount put to Tender In figure =	Dewatering by pumps within all lifts and making all prrangements for disposal of the same upto a specified stance, where continuous flow or seepage of water is encountered, as directed. The rating of pumps and hours of operations is ascertained as per direction of the ingineer-in-charge. Total Amount put to Tender In figure =	Dewatering by pumps within all lifts and making all prrangements for disposal of the same upto a specified stance, where continuous flow or seepage of water is incountered, as directed. The rating of pumps and hours of operations is ascertained as per direction of the ingineer-in-charge. Total Amount put to Tender In figure =

I / We do hereby agree to do the above work @	***************************************
Above / Less / At par than this Schedule Of Rates attached	herewith.
·	
	(Signature of the Contractor)

SNIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

Sl. No. 73

Schedule of Quantity, Unit, Rate and Amount for the work, "Supply Pump for dewatering of flood water at Mouza - Benai near Sekh Para , GP- Palaspai of Ghatal Irrigation Sub-Division under West Midnapore Division."

Amount put to Tender:

₹ 8,50,080.00

Earnest Money :

₹-17,002.00

Time allowed for Completion:

Days

51.	Description of Items	No. or	Unit	Estin	nated Rate	Amount
No.	78 79	Quantity	80835080	Figure	Word	100000000
1	Dewatering by pumps within all lifts and making all arrangements for disposal of the same upto a specified istance, where continuous flow or seepage of water is encountered, as directed. The rating of pumps and hours of operations is ascertained as per direction of the Engineer-in-charge.	27600.00	Нр.Нг.	रु 30.80	Rupees thirty and paise eight zero only	₹ 8,50,080.00
- 600	Total Amount put to Tender in figure =				-	₹ 8,50,080.00
	Total Amount put to Tender in word:		Rupees	ight lakh fift	ty thousand eighty	only

Executive angineer
West Midnapore Division
Irrigation & Waterways Dte.

Paschim Medinipur

I / We do hereby agree to do the above work @.....

Above / Less / At par than this Schedule Of Rates attached herewith.

(Signature of the Contractor)

(NIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

Sl. No. 74

Schedule of Quantity, Unit, Rate and Amount for the work, "Emergent protection work of Chetua Circuit Embankment at Ch. 26.10 Km along R/B of River Rupnarayan along with sluice sealing of New Chandreswar sluice in Mouzas -Uttarbar GP - Kheput in Block- Daspur- II, of Ghatal Irrigation Sub-Division under West Midnapore Division."

Amount put to Tender :

₹ 2,55,700.00

Earnest Money :

ቖ-5,114.00

Time allowed for Completion:

Days SI. Description of Items No. or Unit **Estimated Rate** Amount No. Quantity Figure Word Supplying to site 2nd hand cement polly bags in good 1 Rupees five and condition delivered and stacked (capacity 50 kg). 9600.00 Each ₹ 5.00 ₹ 48,000.00 paise zero only Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a Rupees six and knot after filling will not be accepted) and placing in 9500.00 Each ₹ 6.30 paise three zero ₹ 60,480.00 position within an initial lead of 150 metres including only cost of excavation of earth as per direction of the Engineer-in-charge. Extra rate in Sl. No. 6 above for each additional lead of Rupees thirteen 60 metres or part thereof over initial lead of 150 metres. 3 9600.00 Each ₹ 13.80 and paise eight ₹ 1,32,480.00 6 (six) Extra Lead zero only Supplying Nylon cage netting 1 metre x 1 metre x 1 metre size with knot having mesh size 17.5 cm x 17.5 cm Rupees one constructed with nylon thread (210 x 24) having tensile 134.00 ₹ 110.00 Each ₹ 14,740.00 hundred ten and strength not less than 250 Kg. / sq. cm. including paise zero only carriage, delivery and stacking at site inclusive of all taxes. complete ₹ 2,55,700.00 Total Amount put to Tender in figure =

Total Amount put to Tender in word :

Rupees two lakh fifty five thousand seven hundred only

Executive Engineer West Midnapore Division Irrigation & Waterways Dte. Paschim Medinipur

I / We do hereby agree to do the above work @	***************************************
Above / Less / At par than this Schedule Of Rates attached herewith.	

(Signature of the Contractor)

NIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

ei

SI. No. 75

Schedule of Quantity, Unit, Rate and Amount for the work, "Emergent protection work of Mohankhali Circuit Embankment from Ch. 41.00 Km to 42.50 Km along R/B of River Palaspai in Mouzas-Jote ghanashyam , GP -Jote ghanashyam in Block- Daspur- II, of Ghatal Irrigation Sub-Division under West Midnapore Division."

Amount put to Tender:

₹ 4,73,587.00

Earnest Money :

₹ 9,472.00

Days

Time allowed for Completion:

51.		No. or	Unit	Estimated Rate		Amount
No.		Quantity		Figure	Word	
1	Uprooting, clearing and cleaning all types of thick and thorny jungles, including trees upto 30 cm girth with stumps and removing them beyond working zone and burning to ashes as per direction of the Engineer-in- charge.	3650.00	Sqm	₹ 7.70	Rupees seven and paise seven zero only	₹ 28,182.00
2	Supplying, dressing and stacking at site bamboo pins (diametre to be measured at mid length (a) Above 5 cm to 7.50 cm diametre.	378.00	Mtr	₹ 23,60	Rupees twenty three and paise six zero only	₹ 8,921.00
3	Driving bamboo pins of average 5 cm to 7.5 cm diametre (payment will be made for driven length only) (i) Where boats are not necessary	252.00	Mtr	₹ 6.30	Rupees six and paise three zero only	₹ 1,588.00
4	Supplying, fiting, fixing with Iron nails, half split bamboo wailing pieces. (Diametre of bamboo not less than 5 cm, to be measured at mid length)	72.00	Mtr	₹ 19.30	Rupees nineteen and paise three zero only	₹ 1,390.00
5	Supplying to site 2nd hand coment polly bags in good condition delivered and stacked (capacity 50 kg).	11000.00	Each	₹ 5.00	Rupees five and paise zero only	₹ 55,000.00
6	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge,	11000.00	Each	रु 6.30	Rupees six and paise three zero only	₹ 69,300.00
,	Extra rate in SI. No. 6 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. 4 (four) Extra Lead	11000.00	Each	₹ 9.20	Rupees nine and paise two zero only	₹ 1,01,200.00

Description of Items	No. or	Unit	Estima	ated Rate	Amount
	Quantity		Figure	Word	
Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge.	30D.0D	Cum	₹ 138.90	Rupees one hundred thirty eight and paise nine zero only	₹ 41,670.00
Extra rate in SI. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site. 3 (three) Extra Lead	300.00	Cum	₹ 62.10	Rupees sixty two and paise one zero only	₹ 18,630.00
Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge. (a) Jhama bats	93.00	Cum	₹ 1,500.00	Rupees one thousand five hundred and paise zero only	₹ 1,39,500.00
Labour for spreading and consolidating jhama metal/ 1st class Brick bats / laterite chelly of specific size to requsite thickness in layers including spreading with kiln rubbish, hand packing, watering and compacting with hand roller/Power roller true to line and camber including carriage, cost of all materials (except jhama khoa) and hire charges of all equipments as per direction of the Engineer- in - Charge. (measurement to be made on finished work) Compaction factor 0.67	62.31	Cum	ক 131.70	Rupees one hundred thirty one and paise seven zero only	₹ 8,206.00
	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge. Extra rate in SI. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site. I (three) Extra Lead Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge. (a) Jhama bats Labour for spreading and consolidating jhama metal/ 1st class Brick bats / laterite chelly of specific size to requisite thickness in layers including spreading with kiln rubbish, hand packing, watering and compacting with hand roller/Power roller true to line and camber including carriage, cost of all materials (except jhama khoa) and hire charges of all equipments as per direction of the Engineer- in - Charge. (measurement to be made on	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge. Extra rate in SI. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site. 3 (three) Extra Lead Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge. (a) Jhama bats Labour for spreading and consolidating jhama metal/ 1st class Brick bats / laterite chelly of specific size to requsite thickness in layers including spreading with kiln rubbish, hand packing, watering and compacting with hand roller/Power roller true to line and camber including carriage, cost of all materials (except jhama khoa) and hire charges of all equipments as per direction of the Engineer- in - Charge. (measurement to be made on	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge. Extra rate in Sl. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB: This item is applicable only where the track/ tractors are not accessible at site. 3 (three) Extra Lead Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge. (a) Jhama bats Labour for spreading and consolidating jhama metal/ 1st class Brick bats / laterite chelly of specific size to requsite thickness in layers including spreading with kiln rubbish, hand packing, watering and compacting with hand roller/Power roller true to line and camber including carriage, cost of all materials (except jhama khoa) and hire charges of all equipments as per direction of the Engineer- in - Charge. (measurement to be made on	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge. Extra rate in SI. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site. 3 (three) Extra Lead Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge. (a) Jhama bats Labour for spreading and consolidating jhama metal/ 1st class Brick bats / laterite chelly of specific size to requisite thickness in layers including spreading with kin rubbish, hand packing, watering and compacting with hand roller/Power roller true to line and camber including carriage, cost of all materials (except jhama khoa) and hire charges of all equipments as per direction of the Engineer- in - Charge. (measurement to be made on	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge. Extra rate in SI. No. 8 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. Rupees sixty two and paise one zero only tractors are not accessible at site. 3 (three) Extra Lead Supplying of materials to site including cost of loading, carriage upto 20 km, unloading and stacking (inclusive of all taxes) as per direction of the Engineer-in-charge. (a) Jhama bats Labour for spreading and consolidating jhama metal/ 1st class Brick bats / laterite chelly of specific size to requsite thickness in layers including spreading with kiln rubbish, hand packing, watering and compacting with hand roller/Power roller true to line and camber including carriage, cost of all materials (except jhama khoa) and hire charges of all equipments as per direction of the Engineer- in - Charge. (measurement to be made on

Total Amount put to Tender in word : Rupees four lakh seventy three thousand five hundred eigh seven only

Above / Less / At par than this Schedule Of Rates attached herewith.

SNIT NO- WBIW/EE/WMD/NIT-14 of 2017-18

Sl. No. 76

Schedule of Quantity, Unit, Rate and Amount for the work, "Emergent protection work of Chetua Circuit Embankment from Ch. 25.00 Km along L/B of River Rupnarayan along with sluice protection of Benai sluice in Mouzas & GP - Benai in Block- Daspur- II, of Ghatal Irrigation Sub-Division under West Midnapore Division."

Amount put to Tender:

₹ 4,66,467.00

Earnest Money :

₹ 9,329.00

Time allowed for Completion:

_	_	

SI.	Description of Items	No. or	Unit	Estimated Rate		Amount
No.	STATE OF THE STATE	Quantity		Figure	Word	
1	Supplying to site 2nd hand cement polly bags in good condition delivered and stacked (capacity 50 kg).	6600.00	Each	₹ 5.00	Rupees seven and paise seven zero only	रू 33,000.00
2	Labour charge for filling polly bags (capacity 50 kg cement bag) with all kinds of earth (wet or dry) or sand including sewing the mouth after filling (cost of thread included), as done in case of cement bags, (tying with a knot after filling will not be accepted) and placing in position within an initial lead of 150 metres including cost of excavation of earth as per direction of the Engineer-in-charge.	6600,00	Each	ফ 6.30	Rupees twenty three and paise six zero only	₹ 41,580.00
3	Extra rate in Sl. No. 2 above for each additional lead of 60 metres or part thereof over initial lead of 150 metres. 6 (six) Extra Lead	6600.00	Each	₹ 13.80	Rupees six and paise three zero only	₹ 91,080.00
4	Supplying Nylon cage netting 1 metre x 1 metre x 1 metre x 1 metre size with knot having mesh size 17.5 cm x 17.5 cm constructed with nylon thread (210 x 24) having tensile strength not less than 250 Kg. / sq. cm. including carriage, delivery and stacking at site inclusive of all taxes complete	132.00	Each	₹ 110.00	Rupees nineteen and paise three zero only	₹ 14,520.00
5	Supplying Eucalyptus bullah at site including sizing and sharpening one end and dressing the other end for driving (bigger diametere above specified size if supplied shall be paid at the rate of specified diameter). Measurement of diametere of bullah will be at 1/3rd from the thicker end and without bark) including loading, unloading, carraige at site complete. (a) 17.50 cm. Av. Diametre	407.00	Mtr	₹ 228.20	Rupees five and paise zero only	₹ 92,877.00
6	Labour for driving Eucalyptus bullah piles by monkey in all sorts of soil including sharpening driving point, protection to top end including hire charges for staging and all equipments. N8: Payment to be made for the length actually driven below ground. (i) Where boats are not necessary. (a) 17.50 cm to 20 cm Av. Diametre	285.50	Mtr	₹ 82,40	Rupees six and paise three zero only	₹ 23,525.00
7	Supplying and fitting fixing with Iron nails, half split Eucalyptus Bullah wailing pieces and cross pieces with the thicker end as specified below with cost of all materials and carriage to site etc. complete. (a) Above 15.00 cm.	167.00	Mtr	रु 93.90	Rupees nine and paise two zero only	▼ 15,681.00

cr.	Page Description of Items	No. or	Unit	Estima	ted Rate	Amount
SI. No.	Description of nema	Quantity		Figure	Word	
	Coal tarring with 5% pitch including cost of all materials complete. (b) Two coats.	288.98	Sqm	₹ 26.80	Rupees one hundred thirty eight and paise nine zero only	₹ 7,745.00
9	Fitting, fixing bitumen drum sheet to bullah piling and wailing pieces including cutting straightening drum sheet fixing with country nails and bolts including supply of drum sheet fixture all complete as per direction of the Engineer - In - Charge.	11.20	Sqm	रु 305.90	Rupees sixty two and paise one zero only	₹ 3,426.0D
10	Earthwork, transporting the earth by manually operated thela/ van/ ricksaw etc. beyond the lead of 150 metres and upto 500 metre including removal of jungle and trees upto 30 cm girth, all cost of excavation of earth in all kinds of soil, loading, transporting, unloading, stacking, placing the same or making embankments, rough dressing etc. including all lifts, as directed by the Engineer-incharge.	111.00	Cum	₹ 138.90	Rupees one hundred thirty eight and paise nine zero only	₹ 15,418.00
11	Extra rate in Item no. 1,08 above for each additional lead of 500 metre or part there of beyond the initial lead of 500 metre. NB:- This item is applicable only where the track/ tractors are not accessible at site. 9 (nine) Extra Lead	111.00	Cum	₹ 186.30	Rupees one hundred thirty one and paise seven zero only	ক 20,679.00
12	Carraige of boulder upto 5.0 Km by tractor/trolly or by any other conveyance including oading and unloading where the trucks are not accessible to site	Jane Care	Cum	ন 185.30	Rupees one hundred thirty one and paise seven zero only	₹ 1,06,936.00
	Total Amount put to Tender in figure =		1		Y	₹ 4,66,467.00

Total Amount put to Tender in word:

Rupees four lakh sixty six thousand four hundred sixty seven only

I / We do hereby agree to do the above work @	
Above / Less / At par than this Schedule Of Rates attached h	nerewith.
	(Signature of the Contractor)